AP R RENFET 5 (RI5) B 5 B #

SF5F5H8H (AEH)
Fx ENSEfaghE: 2551 b

(B ILHEREST)
3 s i HIFE R (ko) 1 #Y3E Xt ERE |
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
130100|72 W2 A et 11,461
1301002V A T 8,800 500 6,840 10 1,350 1,620 648
130100|72 W2 A FE 986 0 930| 10 1,404 432
130340[#ICA LA e 16,260
130340[#IcA LA FE 3,090 3,090 10 1,944 1,512
130340[#ICA LA hy= 9,320 9,320 10 1,944 1,080
130340[#IcA LA Ri% 1,020 1,020 10 1,685 1,318
130400(Z1% 5 e 5,408
130400| 1% 5 7% 4,550 4,550 10 2,862 1,566
130400| 1% 5 Ko 93 0 93| 0.15 140
1306001 A Z A et 1,632
130600|1LA Z A = 1,620 0 1,620 5 4,320 1,188
131100{H 3 et 16,670
131100| B3 ZI, 6,365 0 6,290 15 4,752 2,592
131700(%F v~ et 50,306
131700|F v+~ A 33,378 25,743 10 3,618 1,620
131700|F v R FE 13,928 12,992 12 2,997 918
131800(1F 5 N A E e 3,565
131800(1F 3 WA E a=d 483 338 145 0.2 125 76 76 65
131800(1F 5 N A E g 2,790 0 2,790 0.18 97
131910(Fh & et 1,936
131910(Fh & KR 14 0 14| 0.045 63 62
131910(Fh & [ 385 75 310 1 540 324 1,080 324
131910(Fh & &) 613 0 613| 10 3,132 2,538




131950(BA & ¥ 4,846
131950|H A& I 2,296 2,296 6 2,592 1,350
131950(BE & BER 1,720 1,206 3 1,620 702
133400 L % X ¥ 18,784
133400|L % & K% 7,850 0 7,700 10 1,674 756
133400 L % X 5B 8,610 0 8,610 10 1,944 1,404
134100|8A/K T3 20,485
134100|8AM h¥= 3,620 0 2,260 5 1,620 918
134100|8A/K &I 2,605 0 2,065 5 3,672 1,620
134100|8AM iR 3,760 0 3,260 5 1,512 864
134100|8A/K =N 500 0 250 5 1,296 972
134100 (#A K = IR 9,970 0 7,050 5 4,860 2,700
134300|50F ¥ 10,692
134300|30F h¥= 1,680 0 1,680 2 1,944 972
134300|50F =N 6,960 0 6,372 0.3 103 92
134300(71F =1 1,002 949 4 2,052 1,782
134400 b~ b ¥ 9,721
134400| k< b R 8,959 0 8,959 4 4,126 2,808
134500 "=~ ~ ¥ 5,256
134500 &' —~ >~ = 740 630 0.15 70 59
134500 "—~ ~ =y e 3,621 3,307 0.13 65 54
135100| W A LT A ¥ 182
135100 WA F A RS 140 0 140 2 2,808 2,538
135200|%= ¥ 116
135200|%= wE 90 0 90 1 3,024 2,430
135300 &"— X ¥ 362
135300 — X FNERL 154 0 154 2 2,430 594
136100(AA L & ¥ 11,860
136100|HA L & T 9,375 0 2,075 5 3,240 1,350
136100(AA L & & 2,130 0 1,780 5 4,536 1,512




136200| %5 ¥ 11,300

136200(F % Rl 10,380 10,380 10 1,890 1,080
136200|%inE BERE 920 920 10 1,274

136210( X —7 1 ~ ¥ 5,710

136210| X —27 4 >~ R 2,000 2,000 10 3,780 1,404
136210( X —7 1 ~ REAR 150 150 10 3,456 1,836
136300| 2% T3 1,240

136300(E3 BERE 100 100 2 2,052 1,782
136600|7- & ¥ 44,495

136600|7z & & 34,7125 34,725 20 1,944 324
136600|7- & (= 5,010 5,010 20 1,879
138100({& L W /o lF ¥ 1,596

138100 L Wizl fig Ly 414 414 0.08 81 73
138100({& L W /o lF BE 612 594 0.2 292 108
138500| L& LE ¥ 1,243

138500(L® LE g 1,226 971 0.2 83 76




AP R RENFET 5 (RI5) B 5 B #

SF545H8H
= 18.0

(% L EBEREET)
ey _ HFE R ke) 1% #YFE taxtER|
a—Fk A A8 #YFE | HExtEE | Efike) R E(F) BiEm) | sEm) | wEe)
241260 HE A A biToesY 100
241260 HE &A1 A BRE 100 0 100 10 2,376
242320(> a S a— W 1,510
2423201 2 Fa—Jb = 1,510 0 940 10 4,860 3,024
242830|.5CW AT biToesY 6,200
242830(.5\C W AT = 6,200 0 5,340 10 9,936 6,480
242850| MY A Z biToesY 710
242850(FEM Y A Z 55 710 0 490 10 4,752 3,564
24401017 X H % biToesY 49
24401017 XH b 49 0 21 0.35 756
2460001\ B & 8,136
246000\ b & 174 59 115 0.25 756 529
2460001 B & 946 0 705 0.25 378 162
246000\ b & 1,660 0 1,670 0.27 432 162
246000\ b & 2,736 0 2,407 0.25 410 162
246000\ b & 2,623 0 2,302 0.25 886 420
2471007 =X XA v 522
2471007 =2 X 1O > 427 0 355 9 14,040 8,100
2471007 =X XA v = 95 0 95 10 7,560 7,020
2074917 A > o — X A NS 685
2474917 A v — X B Zkih 50 50 5 3,564
2074910 4 v — A B BEX 635 435 5 3,564 3,240
248800 Z 7= £ A/ biToesY 96
248800| = 7= £ A/ HE 96 0 72 8 4,536 2,592




